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25. On the dart board shown in the figure, the outer circle has radius 6 and the
inner circle has radius 3. Three radii divide each circle into three congruent
regions, with point values shown. The probability that a dart will hit a given
region is proportional to the area of the region. When two darts hit this board,
the score is the sum of the point values in the regions. What is the probability
that the score is odd?

s
eJdé 1 3
by = L - = i“:;_]
S LL* -t l‘
WM
Jd
(2
77 = gE 1 - %
(A) 3¢ (B) = ©) 5 (D) = i
g‘-‘-'itﬂl_nn " J'l’.jrfl'e‘-lﬂﬁ?Lil'allll‘i»,r -+ ".IN'W[ on oven
Ll it 4. coce one Q odd x- even
ol it o 2P
2 [ | b
Cage -rwc:@ cuen r:.cfaﬂ + =
E’ W -1 — 3._6.
Now L feel +he answer 1o | " o=l

\ which (¢ no+ on

=2
| Py
Lf 'f‘I"\ey E;'f'ﬁ:fEJl +hat  +he
dartc are dis+'1ﬂ3u:s¢na!ofa.

ANSwe r besnﬂf_g). B{)'f"

CP'['('FE Yenee L)ff‘L-UE!Eﬂ

-1 he AnNSwer Chgq'ce :

L ecan vnderctand +he

YU can npt+  fell the
the two darte . What 3 S

)
Cecide +to t+hrow them 4+ ﬂﬂfe-j Ay L mi'c;c_;mc?
funﬁnhﬁeﬂf'hfUndrrﬂm_mo{mc]? T +hink  +he Pr"afat’em

S ‘“;«wvzd :

i 1



